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QUESTION 1

A company is building a Java EE 5 purchase order processing system. This system will integrate with an external
invoicing system as part of the purchase order approval process. A developer created a new client application to access
the invoicing system using request-response, but a new service call is receiving errors every time it invokes the
necessary Web service.

Which statement is true about the Body element of the SOAP reply message?

A. It must NOT contain any fault elements.

B. It will contain a fault element for each error.

C. It will contain exactly one fault element.

D. It must contain zero or one fault element.

E. It must contain an array of fault elements.

Correct Answer: D

QUESTION 2

Which JAXR interface allows querying a business registry using SQL commands?
A. javax.xml.registry.Connection at level 0

B. javax.xml.registry.FederatedConnection at Level 1

C. javax.xml.registry.BusinessQueryManager at level 0

D. javax.xml.registry.DeclarativeQueryManager at level 1

E. javax.xml.registry.BusinessQueryManager at level 1

F. javax.xml.registry.DeclarativeQueryManager at level O

Correct Answer: D

QUESTION 3

A developer is writing a Web service method that needs to accept multiple types of requests. Based on the request\\'s
content, the service performs time-consuming steps, such as verifying the user\\'s account, checking credit ratings, and
building a list of offers. Which two approaches are appropriate to use in this situation? (Choose two.)

A. a synchronous, document-style approach

B. a synchronous, procedure-style approach

C. an asynchronous, document-style approach
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D. an asynchronous, procedure-style approach
E. HTTP and HTTPS
F. SMTP or other asynchronous protocol

Correct Answer: CF

QUESTION 4

Which statement is true about JAX-WS dynamic invocation?

A. Dynamic invocation clients use RPC typed interfaces to invoke the Web service.

B. Dynamic invocation lets clients access a Web service without a WSDL.

C. Dynamic invocation clients are bound at design-time to a single Web service.

D. Dynamic invocation requires the client to statically configure the Web service proxy.
E. The dynamic proxies provide dynamic invocation in JAX-WS.

Correct Answer: B

QUESTION 5

Which two statements are true about elements in a WSDL document? (Choose two.)

A. Operation is an abstract set of port types supported by one or more endpoints.

B. Service is an abstract set of operations supported by one or more endpoints.

C. Message is an abstract description of an action supported by the service.

D. Operation is an abstract description of an action supported by the service.

E. Binding is a single endpoint defined as a combination of an operation and a network address.
F. Message is an abstract, typed definition of the data being communicated.

Correct Answer: DF

QUESTION 6

A client sends a required SOAP header as a SOAP message. The server-side process determines that information in
the header is invalid and generates a SOAP fault. What is the appropriate fault code for this type of SOAP fault?

A. Client

B. Server
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C. MustUnderstand
D. VersionMismatch
E. HeaderError

F. InvalidHeader

Correct Answer: A

QUESTION 7

Which two statements are true about creating a Web service with JAX-WS? (Choose two.)
A. Stateless Web services must be created with HTTP servlet endpoints.

B. Creating the portable artifacts by hand is slow, but makes a service easier to maintain.
C. All Java-based endpoints share a common packaging model.

D. EJBs can serve as endpoints if hosted in a container with runtime and service support.
E. JAX-WS supports creating services from source and compiled code without a WSDL.

Correct Answer: DE

QUESTION 8
A student developer has created a new library of math functions to share with friends in a linear algebra class. The
developer is having difficulty getting people to come over to the dorm to see the new code library, so he decides to

deploy it as a Web service so that everyone can enjoy the features via the Internet. One of the functions has this WSDL
definition:

Which two statements are true about this Web service? (Choose two.)
A. This is an asynchronous receive.

B. This is an asynchronous send.

C. The client must use SOAPFaultException to display any errors.

D. It must send a SOAP fault back to the sender.

E. It must NOT send a SOAP fault back to the sender.

Correct Answer: BE
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QUESTION 9

A company is implementing an accounting system, where every transaction is monitored and audited. They must
implement message-oriented Web services in their accounting package to integrate various modules. All errors in
computation or transmission must be logged. Which two technologies will they use? (Choose two.)

A. SOAP

B. REST

C. JAXR

D. XML

E. JSON

F. JSP

Correct Answer: AD

QUESTION 10

Which two statements are true about the interoperability of Web services developed using the Java EE 5 platform?
(Choose two.)

A. Interoperability is improved by restricting access only to Java clients.

B. EJB-based endpoints are more difficult for .NET clients to access.

C. Only servlet-based endpoints are used when exposing services to non-Java clients.

D. Exposure is limited to simple arrays of concrete types as the signature of Web service methods.
E. The service must be published in both the .NET and Java UDDIs.

F. Testing for WS-I Profile conformance improves interoperability.

Correct Answer: DF

QUESTION 11

A developer new to Web services is researching how a client can connect to a service. It is clear that some models
provide better abstraction while others offer more power when working with messages. What is the correct reason to
choose the Dispatch interface?

A. Dispatch is a high-level API that helps hide the complexity of XML.

B. REST services can be consumed with the Dispatch APl and XML/HTTP bindings.

C. The Dispatch interface supports the use JAXP to bind data.
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D. The Dispatch interface is represented internally as a SOAP message.

Correct Answer: B

QUESTION 12

A purchase order Web service is designed to be synchronous, request-response, and HTTP- based. The existing
service processes the request immediately. Because of new business requirements, the service can take up to ten days
to perform a credit check before processing the order. Which two design changes need to be made? (Choose two.)

A. The client needs to use dynamic proxies instead of stubs.

B. The client needs to develop and deploy a Web service to accept callbacks.

C. The service only needs to change the WSDL from rpc-literal to document-literal.

D. The client and the service need to establish a mechanism to correlate the messages.

E. Given delays of up to ten days, a polling strategy is more efficient than callback.

Correct Answer: BD

QUESTION 13

Which statement is true about the mapping of a UDDI tModel in the JAXR 1.0 specification?
A. JAXR APIs cannot be used with a UDDI registry using tModels.

B. UDDI tModels are mapped to the JAXR ServiceBinding interface.

C. UDDI tModels are mapped to JAXR ServiceBinding and JAXR Organization.

D. UDDI tModels are mapped to JAXR ClassificationScheme and JAXR Concept.

Correct Answer: D

QUESTION 14

A team of developers is describing a set of endpoints in their new SOA application. Given the WSDL extract:
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Which statement is true about this WSDL extract?

A. The extract is WS-I Basic Profile 1.1 compliant because both port element names are different.

B. The extract is NOT WS-I Basic Profile 1.1 compliant because both port elements point to the same location.

C. The extract is WS-I Basic Profile 1.1 compliant because both port elements point to different binding elements.
D. The extract is NOT WS-I Basic Profile 1.1 compliant because it contains two port elements in the same service.
E. The extract is WS-I Basic Profile 1.1 conformant because both port element names are different.

F. The extract is WS-I Basic Profile 1.1 conformant because the port, binding, and service element combinations are
unique.

Correct Answer: B

QUESTION 15

A developer must modify an existing Web service client program. XML used by the service must be updated and
archived for use in other systems. The developer chooses the Dispatch API. Which two statements are true about this
approach? (Choose two.)

A. Dispatch is generic and can be instantiated for use with XML or SOAP.

B. The Web service can be either SOAP or REST-based.

C. The Dispatch instance must be created in Service.Mode.PAYLOAD mode in order to use SOAP.

D. Instantiating Dispatch Service.Mode.MESSAGE mode allows you to work directly with the XML message.

E. It is unnecessary to use JAXB with the Dispatch API.

Correct Answer: AB
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